

Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$87,955,352.16	\$84,521,652.17
Contributions	\$230,000.00	\$1,246,457.60
Withdrawals	(\$630,000.00)	(\$2,460,000.00)
Transfers In/Out	\$0.00	\$0.00
Income	\$66,512.35	\$245,972.60
Administrative Expense	(\$1,199.55)	(\$6,874.25)
Investment Expense	(\$1,918.84)	(\$18,636.51)
Investment Manager Fees	(\$99.65)	(\$3,168.06)
IFA Loan Repayment	\$0.00	(\$64,979.66)
Adjustment	(\$111,936.04)	(\$111,936.04)
Realized Gain/Loss	(\$4,118.85)	\$327,359.72
Unrealized Gain/Loss	(\$1,227,387.84)	\$2,599,356.17
Ending Balance	\$86,275,203.74	\$86,275,203.74

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.75%	N/A	N/A	N/A	N/A	1.13%	12/01/2022

BOLINGBROOK POLICE PENSION FUND

Fund Name: Trans

Transition Pool

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$216,899.57	\$9,285,937.05
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$213,214.44)	(\$9,664,577.32)
Income	\$865.43	\$12,075.22
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$4,334.43)	\$297,354.19
Unrealized Gain/Loss	(\$216.13)	\$69,210.86
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date		
Beginning Units	23,903.844	1,063,524.885		
Unit Purchases from Additions	0.000	54,513.078		
Unit Sales from Withdrawals	(23,903.844)	(1,118,037.964)		
Ending Units	0.000	0.000		
Period Beginning Net Asset Value per Unit	\$9.073836	\$8.731284		
Period Ending Net Asset Value per Unit	\$0.000000	\$0.000000		

Performance Summary:

BOLINGBROOK POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	12/13/2022

BOLINGBROOK POLICE PENSION FUND

Fund Name: IPOPIF Pool

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$87,738,452.59	\$74,828,254.54
Contributions	\$230,000.00	\$1,160,252.64
Withdrawals	(\$630,000.00)	(\$2,460,000.00)
Transfers In/Out	\$213,214.44	\$10,160,122.04
Income	\$65,646.92	\$233,728.31
Administrative Expense	(\$1,199.55)	(\$6,874.25)
Investment Expense	(\$1,918.84)	(\$18,636.51)
Investment Manager Fees	(\$99.65)	(\$3,168.06)
IFA Loan Repayment	\$0.00	(\$64,979.66)
Adjustment	(\$111,936.04)	(\$111,936.04)
Realized Gain/Loss	\$215.58	\$28,295.42
Unrealized Gain/Loss	(\$1,227,171.71)	\$2,530,145.31
Ending Balance	\$86,275,203.74	\$86,275,203.74

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	8,800,177.812	7,890,066.969
Unit Purchases from Additions	45,091.356	1,141,899.010
Unit Sales from Withdrawals	(74,683.491)	(261,380.303)
Ending Units	8,770,585.676	8,770,585.676
Period Beginning Net Asset Value per Unit	\$9.970077	\$9.483855
Period Ending Net Asset Value per Unit	\$9.836881	\$9.836881

Performance Summary:

BOLINGBROOK POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	3.94%	12/20/2022

Statement of Transaction Detail for the Month Ending 05/31/2023

BOLINGBROOK POLICE PENSION FUND

Trade Date	Settle Date	Description	Amount	Unit Value	Units
Transition Pool					
05/25/2023	05/26/2023	Transfers Out	(213,214.44)	8.919671	(23,903.8442)
IPOPIF Pool					
05/01/2023	05/01/2023	Emerging Market Debt Adjustment	(111,936.04)	9.970077	(11,227.1991)
05/12/2023	05/15/2023	Redemptions	(600,000.00)	9.927560	(60,437.8115)
05/19/2023	05/22/2023	Redemptions	(30,000.00)	9.938776	(3,018.4803)
05/24/2023	05/25/2023	Contribution	230,000.00	9.837097	23,380.8816
05/25/2023	05/26/2023	Transfers In	213,214.44	9.820810	21,710.4740